N = 0l & At & Ml A

20208 & =0l & L BESIH Ml
FAM: HEdsh
Mo ABRNY S4
el MRAZE R4 (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ME&sH 13,968,720 17,795,702 A 3,826,982
s 1,000,000
J| 1,946,653
< 1,014,085
Al 10,007,982
AZIMA E4H 13,874,515 17,701,057 A 3,826,542
s 1,000,000
J| 1,946,653
< 1,014,085
Al 9,913,777
HEAZX R4 3,457,796 3,444,120 13,676
=X 23,968 68,318 A 44,350
201 2et24d] 4,988 4,988 0
01 At 22l 3,740 3,740 0
OMSNE LREN S23|
8,000 x6H x5A! x 128 2,880
Otz edss sEMH
1,000& *8600H 860
02 =224l 1,248 1,248 0
OMSALEY =H8ASS & HYMD GHUHE
g2
(S712,130& %2500 & 2«23 )+( L BF330& %277 1,248
e 423 )
202 oddl 7,980 7,980 0
01 = LH o4 1l 7,980 7,980 0
OFENd & dEHHAME 2HX 22 &
60,000 x3H 42! 720
OMENHE sdLdxE 218 AY
60,0003 x 10 x4 2,400
O HMHAME SHL= 2185 AH
60,0003 x20H x 1 1,200
OFIAEUNA SNHMdE 01E ) HY
60,0003 x4H x4 960
OF2HE SHM2E oz, A
60,0003 x5H 32 900
OM= ZAHX 22 & AMOILE 4 04yl
60,0003 x2H x 1 53] 600
OMSAEd 410 3F &0l
0,000& x 1G5 128 1,200
203 R =&Yl 2,000 2,000 0
03 MM FXH S =AY 2,000 2,000 0
O=HAZHES 98 ASXNY Y2E
2,000,000 » 14l 2,000
405 RHoHF S HI 9,000 23,350 A 14,350
01 AL EZFH S 9,000 23,350 A 14,350




R s R SE=an);
MM AEZMNY R4
Ol HEATE S4 CER-ED
- o ek
SN BA(SA) - MRAY - BES 0l &t o ik HImEET
-/
OzdAM=ES HEZHE FY

5,000, 000% 14 5,000
Oz=dANZMHAM=Ss ESEOH 2

4,000,000& =14 4,000
=dAM=2 WEXA 602,480 605,800 23,320
307 21201 & 602,480 605,800 23,320
02 YAHFHYANEEX 400,400 417,400 217,000
020208 ==& E&HHl K&
70,000,000& =13l 70,000
OMb59sl MetdEMSUHE &8
215,000,000& =13l 215,000
OHM49sl 8=a2EMISUa & d=c X
12,000,000& =13l 12,000
OM101e d=MslHa =& == X
22,000,000& =13l 22,000
02020 detg==8gie Fad M=
3(&H) 4,000,000& 12 4,000
ORN4sl MU OIMEMNSUHSHE(EA)
500,000& » 14| 500
O MEMSNER MSUHI(EH)
1,000,000& =13l 1,000
OHM245 detgd=gle & 2 X323 Mgl
MEs HEH(5H) 60,000,000& =13l 60,000
OR143 Hetde HEAMEHEUI(EA)
15,900,000& * 13l 15,900
03 UAHNEI2HBIEX 122,080 108,400 13,680
OzdAM=E3 2dH K&
122,080, 0003 » 14 122,080
04 BIZHHALAIH 2 & 80,000 80,000 0
020208 =& AIM S 2 A}
20,000,000& =13l 20,000
OHM16al =& Al MEHSE =T M
60,000,000& =13l 60,000
=dANYHAM=E2 WEXS 203,500 168,500 35,000
307 glztol & 203,500 168,500 35,000
02 (It HAMAEE 103,500 88,500 15,000
020208 HOHM=E Rsd=2&H X
5,000,000& =12 5,000
OHMZ28sl dctgd =M= &=H
80,000,000& =13l 80,000
OHM403 8= MSUHE 2 d+= X
1,500,000& =13l 1,500
OHMl4e detgddodaxsiz &
12,000,000& * 14! 12,000
020208 HOHAM=EQe & N
5,000,000 12| 5,000




R s R SE=an);
Bu: AZxMY 8Y
el MEAEX |4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 BIAHMNHE2IHIEL 90,000 80,000 10,000
020208 =& ANZFHAM=S 2EH X
90,000,000& =14l 90,000
04 QIZFHALAIH E = 10,000 0 10,000
OHM23 =& ANTHA MU
10,000, 000& * 13| 10,000
=210 guds N& 231,000 231,000 0
308 AHXIEHHSOIA 231,000 231,000 0
08 WSII20HetE = 231,000 231,000 0
Ogtn 22 =&H XA
&= 490 x201,000& + X &= A+ 45 500,000 121,000
+10,000&
Od= & o9 s 2=+8w X
20,000,000 » 14! 20,000
Ogtux=s & 2532 XN&
20,000,000& *201 40,000
O=7us 244l XA 25,000,000& *201 50,000
NE2sglR =4 2,396,848 2,370,502 26,346
301 LEEAF 2,389,848 2,366,202 23,646
o=t - 2s2SENS 2,389,848 2,366,202 23,646
OF=28 29l 893,405
—Jlg=s-g=H 156,886
SH= 4,740, 7003 x1H 128 56,889
s 4,671,800& x 1 128 56,062
DX 3,661,200 x1Hx12& 43,935
—Jl2s-¢g=H 297,000
o= 3,000,000«1H =122 36,000
o= 3,166,660 x3H 123 114,000
b 3,500,000 x1H x12& 42,000
o= 3,750,000 x2H x12& 90,000
- A SOt 312,500 x4 « 128 15,000
—d0=-22+H 26,149
Eae 4,740, 7003 x 18 23 9,482
= 4,671,800& x 18«23 9,344
- DX 3,661,200 18«23 7,323
—Jimag
(B X+ 40,0003 *3H 128 )+(DJIEFIHS 20, 1,680
000 1" +12&)
—d2=gt=s
130,000 »2%H «12& +50,000& x 1H »12& 3,720
— A2l 7,860
sT= 250,000& 18 128 3,000
S 250,000& x 18 128 3,000




2N
X ZH -
L= B

el

MSXED
AZENY S
HeAmx 54

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
DX 155,000& » 1 x12& 1,860
— &S 200,000& *11H «12& 26,400
— Mg cta | 200,000 »3H = 12& 7,200
—di|gsaxg 300,000 x3H x12& 10,800
—XNEXNFE 12,000
L= 500,000& x1H x12& 6,000
= 300,000& x1H x12& 3,600
X 200,000& x1H 122 2,400
—=2JlHExg 300,000& x1H x12& 3,600
-Hegs< 100,000& *10H x12& 12,000
— 9 ZE S| 15,690
sZs 4,740,700 x60%* 1 2 & 5,689
2= 4,671,800 x60%* 1 »2& 5,607
X 3,661,200 *60%*1H «2& 4,394
—Nd2Z2E ZAS 1,000,000& 11 43| 44,000
—2MUs ZA&3 10,000, 000& *3H x 13| 30,000
— Y EAS 10,0003 4008 4,000
— g3 20,000,000 x2H 40,000
—E=80H-E=03 6,000,000& *x83] 48,000
— SN H-=2HU3 18,000,000& *x 13| 18,000
—E80H-EXEH ¥ A=A
6,000,000& *33| 18,000
~2E0s 2@ 24
8,000 x24I x 11 x45L 7,920
— Il =l 37,500,000 » 14! 37,500
—dJIs3S 7l 65,000,000 =14 65,000
O¥=28 24| 532,561
—Jl23-5X 122,067
A 4.541,600& x 18 x12& 54,500
o 3,058,600& x 1P x12& 36,704
o4 2,571,900& x 18 x12& 30,863
—Jl2a3-9sH 138,000
&= 5,000,000& x1¥ x12& 60,000
o 5,833,330& x 1 x12& 70,000
A S IpAEH 333,330 x 2 x12& 8,000
—Ad3-d2sY 20,346
2= 4,541,6003 x1H x2& 9,084
& 3,058,600 x 1 »2& 6,118
s 2,571,900& x 1Y 2 & 5,144
—JIEx4
(BH S XF 40,000 & +2H x 122 )+ (I EFIIS 20, 1,440
0002 2 x12€ )
— 8290143 2,640




2N
X ZH -
L= B

el

H=&S 0
A XA
HEAEX

0 Ho
0x 0x

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
S 110,000 x 128 x12& 1,320
&= 60,000& x1H ~12& 720
fales 50,000& *x1H x12& 600
— g B x| 6,360
A 250,000& x1H = 12& 3,000
o 140,000& x2H «12& 3,360
—Ed4 200,000& x5H x12& 12,000
— Mg cEAy| 200,000 x3H x12& 7,200
—di|gaarg 300,000 »x3¥ x12& 10,800
—NEXNE=S 2SS 300,000 x1H «12& 3,600
—=2J)llHExE 300,000 »2H x12& 7,200
-Hegs< 200,000 x4 x12& 9,600
— 9 ESJH| 12,208
2= 4,541,600 x60%* 1 »2& 5,450
o 3,058,600 x60%* 1 »2& 3,671
& 2,571,900 x60%* 1 »2& 3,087
—Nd2Z2E ZAS 1,000,000& 54 *43] 20,000
—2MUg ZA&3 10,000, 000& *x3H 13| 30,000
— gt A = 10,000& 250 & 2,500
— g &3 20,000,000 *1&H 20,000
—EM8UH-E=03 3,000,000 x73| 21,000
—SHWH-=2HU3 15,000,000& * 13| 15,000
—EM0H-EXEdH ¥ 2d3EH
3,000,000& *33| 9,000
— 23 =2 34|
8,000 *x2A! x5 x45! 3,600
— I =l 26,000,000 14! 26,000
—dJIs3 Fbl 32,000,000 =14 32,000
OREs 29| 561,714
—JIE23-53H &= 4,541,600& x1H*12& 54,500
—JI22-¢93N 252,000
o 5,000,000& x4H x12& 240,000
A S IpAEH 500,000 »2H x12& 12,000
—Ad03-d2sY
2= 4,541,600@ x 18 <28 9,084
- tEx4
(HHS X 40,000 x12H «122 )+ (I EHJIE 20, 1,200
0002 *3H x12& )
e = | 2= 250,000@ x1H x12& 3,000
—Edd 200,000 x5 x12& 12,000
— M= &y 200,000& x1H x12& 2,400
—dllgaard 200,000& x1H x12& 2,400
- NEX=E 2= 300,000@ x1Hx12& 3,600




M MsSAEL
My ARNY S4
oot HRAEX 84 (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— ) ESE 300,000 »3H = 12& 10,800
—Hegs< 350,000 »2H x12& 8,400
—YHESIIH ZS 4,541,600 x60%* 1 2 5,450
—d=203 EAS 1,000,000 x6H *63| 36,000
—=2HOs ZA&Z 10,000, 000& *4H x13] 40,000
— &Y= 10,000& *300& 3,000
—E=N8UH-E =03 3,000,000& *103] 30,000
— S U-2HMUS 15,000, 000& 23] 30,000
— &MU -EX=2d ¥ 2d3=H
5,000,000& 33| 15,000
—2EU3 =& 34|
8,000& 24! x4 x45 2,880
— I =l 20,000, 0003 *14] 20,000
—&J&88 2l 20,000, 000& *14! 20,000
OME2sHIILE &x54 22 & 82323
600,000 3= x12& 21,600
OXNE2sEIIR 83l 8,000
-33 2,000,000& x13] 2,000
—-%=2 3,000,000& *13| 3,000
- 2% 3,000,000& x13] 3,000
OXE2SZINR A dEHAAZ
50,000,000& *5H 250,000
OsiHzd Y Az
S5 1,200 x3602] Efx5& 2,160
OXNE2SsZIIR 4028 2432 116,928
— =043 1,149,773,000& *4 .5% 51,740
—HLEE 1,149,773,000& *3.12% 35,873
- 1888 1,149,773,000& *1.5% 17,247
— A AEH 38,872,920& *7.38% 2,869
—MHES 1,149,773,000& *0.008 9,199
OXNE2SZITE I L x-30
290,000& x12& 3,480
405 XhAHE S| 7,000 4,300 2,700
01 A&t = S F SHI 7,000 4,300 2,700
OX&EzsgIr &9 =8 ¢ 7,000
— 0S8 S 3,000,000& * 14 3,000
—JIEt S9EE 4,000,000& =14 4,000
AZXOAE 173,135 64,835 108,300
AZX0OIAE 28,835 28,835 0
201 Bt A | 3,595 3,595 0
01 AFR2 22l Yl 2,740 2,740 0
OAZX[OIAHEY YRFAN E22 I
8,000& x4H x5 x12& 1,920




> 1 =

=SS
ExNY 54
E=X0AE

d
SN HH-S(BN) - MBAY - B e 2
OMSEAL Mzl 23 FOF AIZZH &x2 S
820,0008! *13| 820
02 =224l 855 855 0
OXXEY S B2 2B
S712,130 40104 £ %13 855
202 04t 3,240 3,240 0
01 =LH oIl 3,240 3,240 0
OAZXOMEY LR 319 U HX O
60,0002 22 *3 »53] 1,800
OFX & A& #xX 0L
60,0002 32 »22 »4 3| 1,440
203 &R F & H| 2,000 2,000 0
03 Al F=Z Q2 F Tt 2,000 2,000 0
OAZXOIHEY ZHSE 98 PPEA
2,000,000 *14} 2,000
401 Al HIL 2 THY| 20,000 20,000 0
1 AlZH 20,000 20,000 0
OMSHA BE A& 84X & ]X
20,000, 000! *14! 20,000
INEE R L X 45,300 36.000 9,300
201 Ypre | 12,300 3,000 9,300
01 At 22! | 12,300 3,000 9,300
OFXNERE R U M
3,000 *1,000% *13 3,000
OFXNEY 2L ML H2E U
50,0009 *312 <6 4 9.300
307 21240 & 28,000 28,000 0
02 QI AMAISEE 8,000 8,000 0
OFXEY 21 X& 8.000,000! *13 8.000
04 BIZFEHALALYS B X 20,000 20,000 0
OsSHERSX DWER A52210
20,000,000 *13| 20,000
402 QI2EXH2 01 A 5,000 5,000 0
01 QIZFRHEAFY 2 X (RHAITH &) 5,000 5,000 0
OXXEY 258 24 5,000,000 *14} 5,000
R SME 29 99,000 0 99,000
201 Ypre At 99,000 0 99,000
01 At2 22l H] 16,400 0 16,400
Oord e e 48 1,200,000 » 128 14,400
ONREE 7 L 222 ME S 2,000
- AN28E ¢ 1,000,0002 * 14! 1,000
-222 W& S 1,000,000 * 14! 1,000




2A4: MEIEDL
HE: ATENY S4
R AZX0OIAE (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
02 2224 H| 82,600 0 82,600
O22e3 63,600
— &I Rea 3,000,000 ~12& 36,000
— CAIIAR S 1,500,000 x12& 18,000
— ABIEER S 800,000& x12& 9,600
OA & ZH |All 19,000,000 « 1Al 19,000
=M. 822 HSFSEA 1,402,650 1,159,845 242,805
& 75,000
Al 1,327,650
=M - M=C2 MSIA A& 679,650 735,845 Nb56,195
= 52,000
Al 627,650
307 2iz2to| & 679,650 735,845 A56,195
= 52,000
Al 627,650
02 QIZFA AAIE E X 36,650 36, 145 505
OM16e SstdsAZEHA)| M2 SRHE(
=HM) 1,000,000 13| 1,000
OM18a HEHED| &M= HOIEEUHI (BH)
1,000,000 13| 1,000
OHM21a =222/t =2 HOIEEWHI (EH)
1,000,000 13| 1,000
OM10a HEd") d=2 EIE0EHI(BH)
1,000,000 13| 1,000
OHMI11E 3-15 2AHIIE &= HEA MEH=
E=EU(=H) 1,000,000 13| 1,000
OHM183 2222 2AI] =2 BIAEZAH
(EH) 750,000 *13] 750
OHMI13e =222 20MEHs 82 BIEE
sl (sH) 1,000,000 13| 1,000
OM128 Z2AIEH B2 O2t2e2=ZUs (&
H) 1,000,000 13| 1,000
OMA43| st=zzt =2 J2t2c2=ZUsl (&
A 1,000,000 13| 1,000
OHM73 Yozt 8= =23l
1,000,000 13| 1,000
02020 =2 EXMOH HUAHS(&8H
1,500,000 13| 1,500
02020 M2 AI2HEHQ 22 H(BH)
2,000,000 *13] 2,000
02020 ACHHYE & =2 A2 Z0HC 22tal (=
A 3,000,000 *13] 3,000
OM28a MES2MEMA DAEUHI(EA)
2,500,000 *13] 2,500
OHMI133l M=K A =2 Holx=dHal (=
A 4,000,000& *13] 4,000




R s R SE=an);
Mo ABRNY S4
S 2. E=E HSHAM (&)
4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
020204 M= XNELLHMY MSUH(EH)
3,000,000& =13l 3,000
020208 &= ZO0fQ MEHS BHEQLE H3I(
£H) 2,000,000& x13l 2,000
020204d 2t AlE =2 ZoHel &30 (8d)
2,000,000& =13l 2,000
02020 ZOHC 028 MABIRUS(EH)
1,000, 000& *13] 1,000
02020 ZOHQIMEM =S MHAFAUHI(EH)
1,000, 000& *13] 1,000
020204 ZOHQMEM=E EX0IUHE (EN)
1,000, 000& *13] 1,000
02020 M0 HOIEE 22U (&A
) 3,900,000& =13l 3,900
04 DI2HHALALSE E X 643,000 699,700 256,700
OHM1638 =& AIEI| FLEOFRUE
13,000, 000& * 13| 13,000
020208 =& AEI AESe0 =703
20,000,000& =13l 20,000
OHM73 =HCIINF A AEEeD U3
13,000, 000& * 13| 13,000
OHM18al =& AIEH 25 &8 U
5,000,000& =13l 5,000
020208 =AU E =22 eIUz
7,000,000& =13l 7,000
OHM108 =& et ECO S MZIICHS
30,000,000& =13l 30,000
O=&0H ECO S HZIItHEl 1043 A
10,000, 000& * 13| 10,000
OHM73 =&2t MI AT A (MTB)HS
30,000,000& =13l 30,000
OM1sl =& IINEA 83 FLAEHEH=s
thal 15,000, 000& * 13| 15,000
02020 =2 #% F#24UUEE =3 M S
s & AEEeO 30,000,000& =13l 30,000
OHN2sl =dIIIEJA dIBHECIEHUS
42,000,000& *13] 42,000
= 7,000
Al 35,000
02020 =M A= INE AU M2 SS0r20H3l
17,000, 000& 13| 17,000
S 5,000
Al 12,000
OM202 =d=JE3 d=2EU32 =W
40,000,000& =13 40,000
< 5,000
Al 35,000

OM302 =de=JtE3H d=HLIAUE
45,000,000& =12 45,000

5,000

2l




SN MSAED
Hu: ATZNY R4
S M. M2 S A (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Al 40,000
OMBE ~MO2INH A A28 MHHS 3
30,000,000& 13| 30,000
== 5,000
Al 25,000
OHM4sl = =2IEIH =dLLEHLIAL S
93,000,000& 13| 93,000
== 5,000
Al 88,000
OM108l &M= BA M= D2 - 010t 4
SHEHAATIXYS 30,000,000& 13| 30,000
== 5,000
Al 25,000
OM118l =M 20 M2 HH20 S
60,000,000& 13| 60,000
& 5,000
Al 55,000
OHM1438 =&2 S ECIOIetEU S
17,000,000& * 13| 17,000
& 5,000
Al 12,000
OR543l HEII &=20H3H0F 70 8l
93,000,000 13| 93,000
& 5,000
Al 88,000
02020 &= &0 =2 HLUL AU
3,000,000& x13] 3,000
g & OtetE Ual X 155,000 130,000 25,000
= 5,000
Al 150,000
307 QI2t0| & 155,000 130,000 25,000
= 5,000
Al 150,000
04 QIZ2tSH AFAFS B X 155,000 130,000 25,000
OHM208 =& G&SE0IetEUS
155,000, 000& *13] 155,000
== 5,000
Al 150,000
Z=XO2IIESAH =203 168,000 180,000 A 12,000
= 8,000
Al 160,000
307 QI2t0| & 168,000 180,000 A 12,000
= 8,000
Al 160,000
04 QIZ2FSH AFAFS B X 168,000 180,000 A 12,000
OHMb3 =2 INERH =203
168,000, 000& *13] 168,000
& 8,000
Al 160,000




2A4: MEIEDL
Mo ABRNY S4
Sl 2N, AR MSYA (29l & 2)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
H= Ol0IF=0 =38 NEUS 200,000 0 200,000
== 5,000
Al 195,000
307 2Iz2t0| A 200,000 0 200,000
o= 5,000
Al 195,000
04 SIZ2HSHAAISH E & 200,000 0 200,000
OHM13 &= 00z =dENS U3
200,000,000 *13] 200,000
& 5,000
Al 195,000
Z=HOZ2IIEIAE M= RALAES2EF2UHS 200,000 0 200,000
= 5,000
Al 195,000
307 212t0| & 200,000 0 200,000
o 5,000
Al 195,000
04 SIZ2HSHAAISHE E & 200,000 0 200,000
02020 =&OIZ2IJIARAH 82 FAEHZ2H=R
CH &l 200,000,000& *13] 200,000
== 5,000
Al 195,000
ANECH M A 2,249,002 386,980 1,862,022
o= 850,000
Al 1,399,002
ANEZSR AN XS 353,842 386,980 AN 33,138
307 QI2t0| & 353,842 386,980 AN 33,138
02 A2t MAIE E X 40,500 49,550 AN9,050
OHMI243] M2tE SR AD| AIZ2UHE 22 Hal(=
&) 1,000,000%*1§| 1,000
020204 stuted WAHE HISe O(=d)
10,000,000 13| 10,000
OHM298 MY ETXAID MEME HOIESHE(
£M) 2,000,000 13| 2,000
OHMb5sl Hetde 2d8s &) 22Us(&d)
1,000, 000& «13] 1,000
OHM29g FL4=3gs&I| S50 =303 (=
&) 1,000,000& 13| 1,000
02020 HEEH 8= NEZ NMetdr a2
sl(&d) 2,500,000 x13| 2,500
OHM163 HetE XA MEHs 4 =320
sl(&d) 1,500,000 13| 1,500
OM 153 Mt XA MEX s L H15
3 st UNFRH(EN) 2,000,000 x13| 2,000
OHMI158] MY S XAD S50 Hirtha(=A
) 500,000 x13| 500




SN HSXED
Mo ABRNY S4
Ehelr AEHR MsEA (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OHM8zl dMetg=2slod) 52U (EA)
1,000, 000& 14 1,000
OHM 158 HMete T XA MEME AZEHLU
AUs(&5d) 1,000, 000& *13] 1,000
OHMB8al Metd S XIADl 22+ OtetEUE (EH)
1,000, 000& *13] 1,000
02020 Meted S XA ZZUHSI(EH)
1,000, 000& *13] 1,000
OHM158 Mt T XA MEMS HLAWUS(
£H) 1,000, 000& *13] 1,000
OHM18al =&AL HI HOESUHI(EH)
5,000,000& =13l 5,000
OHM22sl MYAESI &I LAANOESUHE (&
A) 600,000& x13] 600
OHN24sl Xelazd sy WE S LolHOl
ESU(EH) 600,000& x13] 600
OXM 1538 HetE =X A =2 HOIEEUI (&
&) 800,000& x13] 800
OR208 &< =0t MU (BEH)
4,000,000& =13 4,000
OHM15a dMetd= AMAFMAMSUHI(EA)
3,000,000& =13l 3,000
04 DIZHHALAISE E X 313,342 337,430 A 24,088
OHM255l =& AIEI SE=F7US
9,000,000& =13l 9,000
OM14s =&et SH=EFAUE
4,000,000& =13 4,000
OHM23s =& AIEI 2HUE 22U
6,000,000& x13] 6,000
OHM12s =&CHHl Meteds SHUE =2 U3
5,000,000& =13l 5,000
OHM233] =&HAEI B2=U3
8,000,000& =13l 8,000
OHM193] =&AIZEH S &R0
9,000,000& x13] 9,000
OHM16al =& AIEH &g - &3 HLUAUS
9,000,000& x13l 9,000
OHM29sl XNOMZAZAl S22 HLIAWUS
2,000,000& =13l 2,000
OHMZ23sl =& AEI 23 g4 S =U3
5,000,000& =13l 5,000
OHM8al =&AIEI| U3 6,500,000 *13] 6,500
020208 Mg 2 74 A2 HOIE=U=
5,000,000& x13] 5,000
OHM172 =& AEI| HOIESE ss2U3
7,000,000& x13] 7,000
ORMI252] =&AIEI| BHESIEHHE
7,000,000& x13] 7,000




2A4: MEIEDL
Mo ABRNY S4
Sl AZEHSl HS A CERED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OHM23 =& AI&H 23t EH2A LS
3,000,000 *13] 3,000
OHM173 =& Al 260 BH 2 CH 3
8,000,000 *13] 8,000
02020 =& Al - A BHRE 3 XOHZAH Y
2043 3,000,000 *13] 3,000
OHM93l =&AIEH =202 7,000,000 *13] 7,000
OHM21g =&A&I| dYEHEZ=U S
9,000,000 x 13| 9,000
OHM163 =&AIEI =203
7,000,000 13| 7,000
OMI1g =&AIEI| HAATIX ZHOIABII
3| 3,000,000 13| 3,000
02020 =& Al ZHE AlCIHIE HEH
8,000,000 13| 8,000
OHM111a =& A& At2 Q2 OF2CH S
3,000,000 13| 3,000
OHM93 =& AI&H IS HALNS
6,000,000 13| 6,000
02020 =&Al2 228 2208 &8 33
CH &l 10,000,000 13| 10,000
OHM143 =&HAEDI| =2sI120U3
3,000,000 13| 3,000
OHMI153 =& A EHH 1A AAHOIEHS
4,000,000 13| 4,000
OHM123 =& A &8 =403l
4,000,000 13| 4,000
OHM9gl =& A& =SAMWUSE 4,000,000& 13 4,000
OHMB58l =XAIZH Hs oH T ELA HE
4,000,000& *13] 4,000
OHM103 =&HAIZI| HALS
2,000,000 *13] 2,000
OM4sl =&HAIED| MZEC3 4,000,0002 13| 4,000
OHNB83 =& A& EJIEZUZ
4,000,000& 13| 4,000
OHMB8E =&AIZEH DcHSE 2E0U 3
6,000,000 x13] 6,000
OHM9sl =& AIZD| OFAILE 2DtCH 3l
3,000,000& x13] 3,000
OHMbBE =&AIEH 2ZU3 5,000,000 *13] 5,000
OM4sl =&AIED| IHEH OIS S
4.,000,000& *13] 4,000
Ooddliotedsd 9 A2 MEHs s
10,000,000& *13] 10,000
OHM2zl =& AIZH Z22/CH& 5,000,000 «13] 5,000
OJIEt AL A& 34,842,000 x 14! 34,842
02020 =8 7HAZ =& A det2E=2T 13
5,000,000 13| 5,000




2A4: MEIEDL
Mo ABRNY S4
Sl AZEHSl HS A CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
02020 =&Al =2EM=US
3,000,000 *13] 3,000
OHM73 dgs2d &Hoe 2=03l
4,000,000& *13] 4,000
OHM108 H2EO0 D SH BEBlles Z&US
3,000,000 *13] 3,000
OHMBel dLds2d & =gl
3,000,000& *13] 3,000
02020 &M Ao E&R2E A
4,000,000& *13] 4,000
OHM73 =&AEI| &ZOHe HLAS
3,000,000& *13] 3,000
OHMBal =&Al HOHQ BHESEH 2 U3
3,000,000 *13] 3,000
02020 X|Eeter HOofQ JIE MU
3,000,000& *13] 3,000
OHM23 =&AIEI| ZO2 HOE=US
4,000,000 *13] 4,000
OHMP23l =d0tAERAHY (28 EXI0tHa
2,000,000 *13] 2,000
ONA4s =& A& HOHQIHAAT X[ L
2T Z2-0l0tE LA THE 30,000,000 13| 30,000
Heos MY MsUE Iz =4I 10,160 0 10, 160
201 et 8,000 0 8,000
01 AP 2t 2| bl 8,000 0 8,000
OHMeos MYMNE =dH AIREE ¢ 8,000
—dEHE =H AIRE2SE 2g S
788,000 *x53| 3,940
— MY HE =H 3o & 2T 29|
300, 000& *53] 1,500
—HYHME =y HE 2
8,000 x4H 80! 2,560
202 04| 2,160 0 2,160
01 2L I 2,160 0 2,160
OHMB0S MEMAE HE A X 02
60,000 *4H 9 2,160
He0s MeAEEMsSUE ZBIAE HES 1,885,000 0 1,885,000
== 850,000
Al 1,035,000
401 AlEHIZL 2 0HY| 1,885,000 0 1,885,000
== 850,000
Al 1,035,000
01 Al&H| 1,870,000 0 1,870,000
O FTHINHE L BXAIEY HES ZA
1,870,000,000& =14l 1,870,000
& 850,000
Al 1,020,000




2A4: MEIEDL
Mo ABRNY S4
R AIS SR M A (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
02 2teldl| 10,000 0 10,000
O ZII& HEL 22yl 10,000,000 1Al 10,000
03 A& E2HH]| 5,000 0 5,000
O FHII&E & BEXAHIE HES ZAH
5,000,000 =14l 5,000
20 HSEEIZ2 BEXZAY 1,248,132 1,000,677 247,455
J| 646,653
& 19,085
Al 582,394
AZ2AL 0l2d XA 188,364 191,886 N 3,522
J| 131,855
& 16,953
Al 39,556
301 et M= 188,364 191,886 N 3,522
J| 131,855
& 16,953
Al 39,556
01 Al B & A 462 188,364 191,886 N 3,522
OAZAX0IEHAY 188,364, 000& x 14! 188,364
J| 131,855
&< 16,953
Al 39,556
OHAUAELXAEOISHE ALY 23,680 0 23,680
Jl 16,576
o= 2,132
Al 4,972
301 et M3 23,680 0 23,680
J| 16,576
& 2,132
Al 4,972
01 Al E & A %52 23,680 0 23,680
020208 &I AZ=AZIOISH XA
23,680,000& = 14! 23,680
J| 16,576
o 2,132
Al 4,972
Bt e = X = XF 8 X 298,062 240,287 57,775
Dl 130,356
Al 167,706
307 212t0| & 298,062 240,287 57,775
J| 130,356
Al 167,706
02 QIZFE AAIE E X 298,062 240,287 57,775
Ottty X S A B X AN
298,062,000& * 1Al 298,062
J| 130,356
Al 167,706




FAM: HEdsh
Hu: ATZNY R4
2 FUHSIEIIS BEXAY (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
(GRSRAEE- P E= NN [ PN 375,378 344,066 31,312
| 159,324
Al 216,054
307 gl2tol & 375,378 344,066 31,312
Il 159,324
Al 216,054
02 It HAHE L 375,378 344,066 31,312
ONZAME MEMINUCTT BT AL
375,378,000 x 14! 375,378
| 159,324
Al 216,054
oM E X=X A BRI 97,918 27,288 70,630
J| 43,452
Al 54,466
307 21201 A 97,918 27,288 70,630
J| 43,452
Al 54,466
02 It S AHE L 97,918 27,288 70,630
OOl M=K BIEXIALS
97,918,000& =14 97,918
| 43,452
Al 54,466
=UME100 MEASHEH 29 264,730 197,150 67,580
J| 165,090
Al 99,640
101 el bl 208,950 140,080 68,870
J| 114,647
Al 94,303
M4 II2HZ22NSES 208,950 140,080 68,870
OHL 222l Ab 22|
113,000 x20 +2H x 122 54,240
| 43,392
Al 10,848
OME=ZAL o1AHl 72,0002 20 «2H 128 34,560
| 27,648
Al 6,912
ONE=EE £33 Al
67,0003 x1H «50 3,350
| 2,680
Al 670
OHLd2S AN =52
113,000 & x4 x2H « 123 10,848
| 8,678
Al 2,170
OMEEZAN =5 72,0003 x»4L «2H«12& 6,912
J| 5,529
Al 1,383




FAM: HEdsh
B AZzaY 84
Sl ROMSHEINZ BEAMY (Se:ae)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ovLessacAM EaY
125, 00021 +302 2, 1902 /3652 +2L 45,000
OMA=HA S ag
86,0003 *302! 2,190 /365 15,480
OMS=FA SR cg
86,000 *30 730 /3652 5,160
ONMSBQUZME X 4ULER S
450,000 »4H 128 21,600
| 17,280
Al 4,320
O0t= EFMHIA Kbl
20,0002 x4% x55] * 122 4,800
Il 3,840
Al 960
OMgesdy A2us & A3 4
150,000 »4H x53| 3,000
| 2,400
Al 600
OHAZHE Ha 222 7Y
250,000& *4H «43| 4,000
| 3,200
Al 800
201 LBH2d| 55,780 57,070 A 1,290
bl 50,443
Al 5,337
01 At 22l 53,280 55,570 AN2,290
OJIZ2ARESE ¥ 5,000
—JlE2 AR ESHI 500,000& 102 5,000
| 5,000
OI2MEI0 EE AUHE HNE S 2,400
—ZAH Y HEEY 2,400,000 *14] 2,400
| 1,920
Al 480
OMZgelEaM 2 AEIH MZE 4,000,000 14 4,000
| 3,200
Al 800
OZ22HEI00 28 JIEgE M
17,974,000& 14! 17,974
| 17,974
OMoE 288 |SUE 2 253 72
3,000,000 » 14 3,000
| 2,400
Al 600
OME=s&d&Hl &2 =Abl 900,000& » 14! 900
| 720
Al 180
OMgelsdH 43 39 200,000& x 103l 2,000
| 1,600

Al 400




2N HSUED
HE: ATXAQ 24
o2 BOUHSIUEIS EXALY (&9 &)
SAH M -H2A () - MEAY - BES Ol A o4 %Ei Hns2
OLEEZ, Z2EH X2 500, 0009 * 14l 500
7| 400
Al 100
OEMI YHB(EU, E& BEXF)
400,0009 122 4,800
7| 4,800
O0tItE SHMHIA I X2
1,300, 0008 * 14! 1,300
7| 1,040
Al 260
OJIEF B AF JHZIH] 1,000,00094 * 14! 1,000
pl 800
Al 200
ONEZEDNL 2=2E 2
4,000,000 * 14! 4,000
7| 3,464
Al 536
OZelll & thsta JIXe ¢ 1,736
— 2|0 67,0002 x83] 536
7| 429
Al 107
— CHst A DI X et 200,000% 32 2 1,200
7| 960
Al 240
OMBASHE = AZASH (TA 2, &
o £ 5) 1,500,0008 * 14! 1,500
7| 1,200
Al 300
OAE 42 L AR2 1,690,00094 * 14! 1,690
pl 1,352
Al 338
OJI7 dUZ(MEMAMSI Z&)
100,000 x 10 1,000
7| 800
Al 200
OQlEu AIR2 40,0002 128 480
7| 384
Al 9
02 2229 2,500 1,500 1,000
OB2=29H 2,500
—2ER3
B2 H 330 *869M+S I R 2, 1302 %100 500
|
7| 400
Al 100
—HiA BASEI 2,000,00084 * 14! 2,000
J| 1,600
Al 400
Mo AL &5 5,343,800 11,644,600 6,300,800




2N
X ZH -
L= B

el

> 2

SHEY
ZxpY S
SIY NS 2E

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
e 1,000,000
J| 1,300,000
= 70,000
Al 2,973,800
HEAE X & B 823,800 894,600 AT70,800
201 Ler24E] 5,640 1,440 4,200
01 At 22l 1,440 1,440 0
OMSAELEY HRFA S22l
8,000 «3H 541 «12& 1,440
02 =224l 4,200 0 4,200
OZZ3HESANE 2223 4,200
—dIIReRa 250,000& 122 3,000
—&ot=ER3 100,000& =123 1,200
202 044l 2,160 2,160 0
01 = LH o4 1l 2,160 2,160 0
O=HIXNAANE €8 L XNEHS 2F
60,0003 x2H 22 53] 1,200
OZSHSAE EX&&H EtAIZ X0
60,0003 x2H 22 43| 960
203 YR =&l 1,000 1,000 0
03 A FAH S =AY 1,000 1,000 0
OZ2Z3MSAE dXAY 2=
1,000, 000& 14! 1,000
401 A& HIZ 201 Y] 790,000 890,000 A 100,000
01 A& HI 790,000 890,000 A 100,000
OsUM=sAE &X & E=
690,000,000 =14l 690,000
OZUIBHLSET TAZHE B1F L NN
fHeES 20,000,000 =14 20,000
OZ0t==2% Z0e HAAME &3
10,000, 000& * 14! 10,000
OZNEE2E CCTV & XAt
10,000,000 *5H 2~ 50,000
OZNYZLHEE JIsELAY 20,000
—oZYHE XYY &X
7,000,000% *2J4 & 14,000
— Ot EHl =& S| 500,000& = 12& 6,000
402 RI2FX=01 M 25,000 0 25,000
01 2I2E 2 A B (KM ) 25,000 0 25,000
ONH &ty HES=SA 25,000,000 =14l 25,000
=& AHAZZ2SME HE 300,000 3,370,000 23,070,000
as 100,000
Al 200,000
401 Al HIZ 201 8] 300,000 3,370,000 23,070,000




2A4: MEIEDL
My ARNY S4
e MO Al &= (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Fag 100,000
Al 200,000
01 Al&H| 290,000 3,280,000 A 2,990,000
ObIH AZX254EH 228
290,000,000 « 1Al 290,000
g 100,000
Al 190,000
03 AlE 20| 10,000 10,000 0
OXH AZX2SHE 248 10,000,000 x14! 10,000
st MEMSAIE X 150,000 700,000 A 550,000
308 MXISHMSOIA 150,000 700,000 A 550,000
08 DSIIBOCHEHE = 150,000 700,000 A 550,000
OZdzssn 228 AZX0 DX 2A
150,000, 000 1Al 150,000
=& EYOoYHMH(EOICI2ZEYSZ) HE 1,700,000 0 1,700,000
Ry 900,000
Al 800,000
401 A& HIZL £ 0HY| 1,700,000 0 1,700,000
Ry 900,000
Al 800,000
01 Al& H| 1,680,000 0 1,680,000
O=& EYolgduyg HE
1,680,000,000& x14A! 1,680,000
Fag 900,000
Al 780,000
03 A& 2 0HH]| 20,000 0 20,000
Oz=& EYOolYHE HE 20,000,000 = 14! 20,000
Q& Z20MIHAH HE 2,300,000 0 2,300,000
Jl 1,300,000
Al 1,000,000
401 Al EHI L 204 HI 2,300,000 0 2,300,000
J| 1,300,000
Al 1,000,000
1 Al&H| 2,280,000 0 2,280,000
O Z0H=sHyH HE
2,280,000,000& » 1Al 2,280,000
J| 1,300,000
Al 980,000
03 Al&E 201 Y| 20,000 0 20,000
O Z0HsHyH HE 20,000,000 x 1Al 20,000
ARE XNGMEAIS (HMSAY) 70,000 60,000 10,000
& 70,000
401 AlEHIZL 2 0HY| 70,000 60,000 10,000
& 70,000
01 Al&H| 70,000 60,000 10,000




R s R SE=an);
Hm: ALXMY R4
el MIIIE AIE &5 (Sl & &)
SN FH-SA(EN) - MBAY - BES 0l &k o4 il Hl D&
OlEH NHOEEE AMEE HESSA
30,000,000 =14l 30,000
=) 30,000
O2=x1s EX 0| OIE MSAME A
20,000,000& =14l 20,000
< 20,000
O&MH S&el HSAE ALY
20,000,000& =14 20,000
< 20,000
HY2LSIH (MESHED) 94,205 94,645 AN440
eI 23l 45,399 44,492 907
oI 2| 45,399 44,492 907
101 @124l 45,399 44,492 907
01 2=+ 45,399 44,492 907
OAIZtel 222 10,5093 «12H +30Al 2t 128 45,399
Jl= &3l 48,806 50,153 A1,347
Jl=dl 48,806 50,153 A1,347
201 Let24d] 14,606 15,953 A1,347
01 At 22l 14,606 15,953 A1,347
OJle AMRESHI 30,000 x13¥ «12& 4,680
OZeHI Xz 165,000& 128 1,980
OYRFE SAEXN ¢
23,0003 x6 Ax12E 1,656
O=Al EH 7¢ 136,000 »4H x53] 2,720
OF=Jl gx&z 47,5003 x 128 570
ORNE2Y 28 29l 250,000& 128 3,000
202 O4dl 31,200 31,200 0
01 = LH 4 1l 31,200 31,200 0
OJlzge=d 2HEE 04l
20,0003 «13H 102~ 128 31,200
203 YR =&l 3,000 3,000 0
04 RENSEHR=LH| 3,000 3,000 0
ORNM2E A3 250,000& =128 3,000




